Tema: "®PopMyJibl COKpaALLLEHHONo YMHO>XeHua"

KapTo4ika Ne 1 OTBeTbl K KapTo4yke Ne 1
BbIMOAHUTbL YMHOXEHWNE: BbIMONMHUTDL YMHOXEHUNE:
1)  (x—yllx+y] 1)  [x—yllx+y]
2)  [2a-3b|2a+3b) 2)  (2a-3b)2a+3b|
3) (8b—54[8b+54 3) [8b—5a/(8b+54]
4)  (2c- 10)(2c+10) 4)  (2c-10/2c+10]
5)  [9-5x/(9+5x] 5)  [9-5x](9+5x]
6) [2y- 03)(2y+o3) 6) (2y-03)2y+03
7)  l6k-1|6k+1] 7)  (6k—1][6k+1]
8) (b—% b+2 8) (b—§ pe2
9)  [11x—y|11x+y] 9) [1ix—y|lilx+y|
10) (7a-3b|(7a+3b| 10) (7a—3b)(7a+3b|
1) [bedbed 1) fiepfbeds
12) la-blla+b) 12) (a—blla+b)
13) [(x—y'llx*+y’] 13) [x-y)lx+y?
19) (20222 1) (0222
15) (7p—qbll7 p+qb| 15) [7p—qb|7 p+qbl
16) (z-15/(z+15] 16) (2-15/(z+1,5]
17) (0,2—§)(0,2+§) 17) (0,2—5) 0,2+5
KAPTOYKA Ne 25
25.1 25.2 25.3 254
(X +y) (b+3)p | (at12) (y-9)?
dx+ 12x + 9| 2662+ |ar+12a| 1+p-2y
10b+ 1 + 3b




(x-y)(x+y) |(2a-3b)(3b| (8b + &¢c) | (10x-7y)
+ 2a) (6¢c-8b) | (10x+7y)
X2 —? b?- az-25 | y?-0,09
X3-)° 1+b? 125 + a° ye-1
(p-d)? (10 -c)> | (16-x)> | (40 + b)?
26a’+10a+ | 81a*>- |9a?-ab +| 64-16b +
1 18ab + b? =b? b?
25 Xx3- y? - 144b?>- c?| p - a*b?
49a’+16e’
(-a-2)) | (-3-b) | (-x-y) | (-12-c)
M-I 125 -a° 1+e° =X+ = )P
(9-y)y ((0.3-m)p|(m+n)| (8-a)
KapTtouka Ne 26
26.1 26.2 26.3 26.4
8-:a’ 1+27y° x3-64 | =m+100
0
(b+3): | (y+9¢ | (m-0.3) | (a-5b)’




T+x-2x | 9x¢-xy | 64-16a |m: + 2mn
+ o ) ta’ + N2
(2x-1) (8c+ |[((3b+5¢c)|(c+2d)
(2x+1) 19d)(9d-8| (3b-5¢c) | (c-2d)
c)
125¢3- c3-a° 27_y3 1 — Cc°
64b°
(a+0,5)* (0,4 +b)*| (0,2 - x)? fe- 21
28xy + | 100x2+ | a2+ |1-2x + x?
49x* + |y + 20xy | 4b* -2ab
4y*
(7x-2) |((c-7)(7+| (4+b) |(a—Db)b
1-p | tar+ b [+ 2700 | ixe- g
(-a-1)° (-b-2): | (-c-10)? | (-x-12)






